(J harhesh Air Source Treatment

AC Series F.R.L combination

Order Code
AC 2000 - 02 O
Series Body Size Port Size Drain Mode
1000 M5| M5 Nil | Semi-Automatic Type
2000 02| 1/4" D | Automatic Type
3000 03 | 3/8"
Symbol 4000 04 | 1/2°
5000 06 | 3/4"
Technical Specification
Proof Pressure 1.5Mpa | 15bar , 217.5psi |
Max. operating pressure 1.0Mpa | 10bar, 145psi |
Ambient Temperature 5~60"C(Not Frozen)
Filter Precision 40pm
Suggested Lubricating Oil Turbine No. 1 Oil{ISO VG32)
Bowl Material PC
Cup Cover AC1000-2000(Without) AC3000-5000(with)

AC1000:0.05-0.7Mpa(7.25-101.5 psi)

Range of Regulation
AC2000-5000:0.05-0.85Mpa(7.25-123 psi)

Model Specifications
Combinations Max. Flow Port Size Pressure Gauge
Manual Automatic Filter Regulator | Lubricator (L/min) Rp(PT) SizeRp(PT)
AC1000-M5 AC1000-M5D AF1000 AR1000 AL1000 90 M5x0.8 116
AC2000-02 AC2000-02D AF2000 AR2000 AL2000 500 1/4 1/8
AC3000-02 AC3000-02D AF3000 AR3000 AL3000 2000 1/4 1/8
AC3000-03 AC3000-03D AF3000 AR3000 AL3000 2000 3/8 1/8
AC4000-03 AC4000-03D AF4000 AR4000 AL4000 4000 3/8 1/4
AC4000-04 AC4000-04D AF4000 AR4000 AL4000 4000 1/2 1/4
AC4000-06 AC4000-06D AF4000 AR4000 AL4000 4500 3/4 1/4
AC5000-06 AC5000-06D AF5000 AR5000 AL5000 5000 3/4 1/4
AC5000-10 AC5000-10D AF5000 ARS5000 AL5000 5000 1 1/4
Dimension(mm)
AC1000-2000 AC3000-5000
LN o Seugs damstar F Gauge diamatar
G J A e L Type Bracket
ke, I Ouer &l
1_ A _ el " Regulator Lubricator
Drainage Filter RS F :

Model |Potsize | A | B | c |D| E |F| e [H|Jd |k LM ]| N]|P w
AC1000-M5 M5x0.8 89 87 25 25 | 33.5 [255]| 31 20 145 |7 3 18 16 41 106
AC2000-01/02] 1/8 - 1/4 | 140 | 124.5 39 40 | 53 30 50 24 |55 |85 |5 22 23 50 146
AC3000-02/03| 1/4 - 3/8 | 182 | 158 37 53 | 545 |41 64 35 | 6 10 | 7 34 26 70 197
AC4000-03/04f 3/8 - 1/2 | 238 | 195 43 70 | 60 49 84 40 | 9 13 7 42 33 86 213
AC4000-06 3/4 253 | 197 43 70 | 66 51 89 40 [ 9 13 | 8 48 36 88 215
ACS5000-06/10] 3/4 « 1 300 | 272 47 a0 | 70 68 105 | 80 | 12 16 10| 55 40 - 290




Air Source Treatment Air Source Treatment

@ harhesh

(J harhesh

AC Series FR.L combination AF Series Air filter

Order Code Order Code
AC 2000 - 02 [} AF 2000 - 02 O
Series Body Size Port Size Drain Mode Series Body Size Port Size Drain Mode

1010 M5| M5 Nil | Semi-Automatic Type 1000 M5| M5 Nil | Semi-Automatic Type
2010 02 | 1/4° D | Automatic Type 2000 02 [ 1/4" D | Automatic Type

Symbol 3010 03 | 3/8' 3000 03 | 3/8°
4010 04 | 1/2" 4000 04 [1/2°
5010 06 | 3/4" 5000 06 | 3/4°

10 1 1°

é =0 1011

Technical Specification

Symbol

Proof Pressure 1.5Mpa | 15bar , 217.5psi |

Max. operating pressure 1.0Mpa | 10bar,145psi | Technical Speciﬂcation

Ambient Temperature 5~60"C(Not Frozen) Biait ieaaias 1.5Mpa | 15bar , 217 5psi |

Filter Precision 40um Max. operating pressure 1.0Mpa | 10bar,145psi |

Suggested Lubricating Oil Turbine No. 1 Qil(ISO VG32) Ambient Temperature 5~60°C(Not Frozen)

Bowl Matesial FC Filter Precision 40pm

Cup Cover AC1000-2000(Without) AC3000-5000(with) Bt lhdagtel o

Range of Regulation AC1010:0.05-0.7Mpa ( 7.25-101.5 psi) Cup Cover AC1000-2000(Without) AC3000-5000(with)

AC2010-5010:0.05-0.85Mpa ( 7.25-123 psi)
Model — S B s Specifications
Combinations Max. Flow Port Size Pressure Gauge Max. Flow Port Size - >
Manual Automatic Filter Lubricator (L/min) Rp(PT) SizeRp(PT) Marual Riforaaiic (L/min) Rp(PT) Cup Combination(cm’)

AC1010-M5 AC1010-M5D AW1000 AL1000 90 M5x0.8 1/16 AF1000-M5 AF1000-M5D 10 M5x0.8 r
AC2010-02 AC2010-02D AW2000 AL2000 500 1/4 1/8 AF2000-02 AF2000-02D 750 /4 15
AC3010-02 AC3010-02D AW3000 AL3000 1700 1/4 1/8 AF3000-02 AF3000-02D 1500 \/a P
AC3010-03 AC3010-03D AW3000 AL3000 1700 3/8 1/8 AF3000-03 AF3000-03D 1500 38 20
AC4010-03 AC4010-03D AW4000 AL4000 3000 3/8 1/8 AE4000-03 AFE4000-03D 4000 3/8 45
AC4010-04 AC4010-04D AW4000 AL4000 3000 1/2 1/4 AE4000-04 AF4000-04D 4000 1/2 45
AC4010-06 AC4010-06D AW4000 AL4000 3000 3/4 1/4 AF4000-06 AE4000-06D 6000 3/4 45
AC5010-06 AC5010-06D AWS000 AL5000 4000 3/4 1/4 AF5000-06 AF5000-06D 7000 3/4 130
AC5010-10 AC5010-10D AWS5000 AL5000 4000 1 1/4 AF5000—10 AF5000—10D 7000 i 130

AC3010-5010
.
s e i

¥
T Type Bracket ‘

o

'
¥
- ot _[
Adaptey’ /
|- ;iup!lma!}-‘
Gauge diameter

Lubricator

Dimension(mm)

AC1010-2010
A

Inet
oy

Gauge dig

Lubricator "

Drainage Filter Regulator

Drainage Filter Regulator

Model PortSize | A B Cc D = E G H J ke (| M N 2] m
AC1010-M5 | M5x0.8 58 108 | 505 | 25 | 33.5 |25.5( 28 20145 |7 3 18 16 41 127
AC2010-01/02| 1/8 + 1/4 | 90 160 | 74 40 | 53 |30 | 45 24 |55 |85 |5| 22 23 50 181
AC3010-02/03| 1/4 - 3/8 | 117 207 | 89 53 | 54.5 |41 685 |35 | 6 10 | 7| 34 26 70 245
AC4010-03/04] 3/8 - 1/2 | 155 259 109 | 70 | 60 (49 | 77 40 | 9 13 | 7| 42 33 86 276
AC4010-06 3/4 165 263 111 70 | 86 |51 82 40 | 9 13 | 8| 48 36 88 281
AC5010-06/10| 3/4 - 1 196 339 117 |90 |70 [68 | 975 |50 |12 | 16 | 10| 55 40 - 356




( J) harhesh Air Source Treatment ( J) harhesh Air Source Treatment
Structure Charts
AFIGR0EEN0 ARRRD00 AW Series Air filter—regulator
Inlet — H—| — outer Order Code
AW 2000 - 02 D
i Series Body Size Port Size Drain Mode
1000 M5 | M5 Nil | Semi-Automatic Type
I 2000 02 [ 1/4" D | Automatic Type
i Symbol 3000 03 | 3/8"
4000 04 | 1/2°
5000 06 | 3/4°
Dimension(mm) " _ o , - et
Technical Specification
AF1000~2000 .
: Ed — Proof Pressure 1.5Mpa | 15bar , 217.5psi |
N = ) Max. operating pressure 1.0Mpa | 10bar,145psi |
iniet IS el Ambient Temperature 5~60°C(Not Frozen)
= Filter Precision 40 p m,5 u m(customized)
E Bowl Material PC
! Cup Cover AC1000-2000(Without) AC3000-5000(with)
AW1000:0.05-0.7Mpa(7.25-101.5 psi
Atk Range of Regulation pa( Lo T
A with Auto Drain AW2000-5000:0.05-0.85Mpa(7.25-123 psi)
AF3000~4000
2 - Model Specifications
Callber Manual Automatic Max. Flow(L/min) Port SizeRp(PT) Pressure Gauge SizeRp(PT)
I ol |3 AW1000-M5 AW1000-MS5D 100 M5x0.8 116
ul QR AW2000-02 | AW2000-02D 550 1/4 1/8
Inket ol | oY N i AW3000-02 AW3000-02D 2000 1/4 1/8
s ||| caer AW3000-03 | AW3000-03D 2000 3/8 18
] ! ” : AW4000-03 AW4000-03D 4000 3/8 1/4
- AW4000-04 AW4000-04D 4000 1/2 1/4
AW4000-06 AW4000-06D 4500 3/4 1/4
AWS000-06 AWS5000-06D 5000 3/4 1/4
= AW5000-10D 5000 1 1/4
AF5000 AWS000-10 /
a
Bracket
Caliber
N.C..N.O.
Quick fitting auto drain type
Model |[Posize|l A | B | c | Do |E|F |G| H|u]|Kk]|L]|M]|P l”_"ﬁ——‘ém”ra'—"
AF1000-M5 M5x0.8 25 68 75 25 - = = = - = = = 25 87
AF2000-01/02] 1/8 - 1/4| 40 97.5 11 40 17 30 |27 21 5.5 85 40 1.8 40 120
AF3000-02/03| 1/4 - 3/8| 53 134 14 53 16 41 40 24 6.5 8 53 1.8 &b 173
AF4000-03/04]| 3/8 - 1/2| 70 169 17 70 17 50 | 51.5 24 85 12 69 1.8 72 186
AF4000-06 3/4 75 173 20 70 - - - - - - - - 72 191
AF5000-06/10] 3/4 + 1 90 248 25 20 - - - - - - - - - 266




@ harhesh

Structure Charts
AW1000

Dimension(mm)

AW2000

AW3000~4000

Air Source Treatment

AW1000~2000
VRN - S A
(nlef —- Outlet i L
Gauge diametar 1
Pressure Gauge \
With Auto Drain
Semi-Automatic type
AW3000~4000
:  —Bracket
\, Caliber
Quick 1-11r;'|g.;m'.lo draln type
Model PonSizeABCDEFGHJKLMNP—WM—_;’Dm—"
AW1000-M5 M5x0.8 25 108 505 | 26 | 335 | 25 |28 30 | 45 | 85 40 | 1.8 | 185 | 25 127
AW2000-01/02) 1/8-1/4 | 40 160 74 40 | 53 33 |1335| 43 |55 |15 55 | 1.8 | 335 | 40 181
AW3000-02/03| 1/4 - 3/8 | 53 207 89 53 545 |41 |36 | 47 |65 | 115 | 54 | 1.8 | 425 | 55 245
AW4000-03/04] 3/8 - 1/2 | 70 259 109 | 70 | 60 49 |53 52 |85 |105 | 70| 1.8 | 825 | 72 276
AW4000-06 3/4 75 263 111 70 | 66 49 |53 56 | 851105 | 70 | 1.8 | B25 | 72 281
AWS000-06/10 3/4 - 1 90 339 117 90 | 70 49 |53 62 | 85| 105 |70 | 18 | 625 | - 356

@ harhesh

AR Series Air Regulator

Technical Specification
Proof Pressure

Air Source Treatment

Order Code
AR 2000 - 02
Series  Body Size Port Size
1000 M5 | M5
2000 02 | 1/4°
3000 03 | 3/8°
4000 04 | 1/2°
Symbol 5000 06 | 3/4*
10 11"

+%

1.5Mpa | 15bar , 217.5psi |

Max. operating pressure

1.0Mpa | 10bar,145psi |

Ambient Temperature

5~60"C(Not Frozen)

Range of Regulation

AR1000:0.05-0.7Mpa(7.25-101.5 psi)
AR2000~5000:0.05~0.85Mpa(7.25- 123 psi)

Model : Spelciﬁcations ‘
Max. Flow(L/min) Port SizeRp(PT) Pressure Gauge SizeRp(PT)
AR1000-M5 100 M5 x 0.8 1/16
AR2000-02 550 1/4 1/8
AR3000-02 2500 1/4 1/8
AR3000-03 2500 3/8 1/8
AR4000-03 6000 3/8 1/4
AR4000-04 6000 1/2 1/4
AR4000-06 6000 3/4 1/4
AR5000-06 8000 3/4 1/4
AR5000-10 8000 1 1/4




U harhesh Air Source Treatment (J harhesh Air Source Treatment

Structure Charts AL Series Air Lubricator
Order Code
AL 2000 - 02
2 5 3 Se!ies Bodl Size Port Size
A s s
Symbol = o
_O_ 5000 (1}8 ?M

Technical Specification

17 Proof Pressure 1.5Mpa | 15bar , 217.5psi |
Max. operating pressure 1.0Mpa | 10bar,145psi |
Ambient Temperature 5~60°C(Not Frozen)
Suggested Lubricating Oil Turbine No. 1 Oil(ISO VG32)
Dimension(mm) Bowl Material PC
Cup Cover AC1000-2000(Without) AC3000-5000(with)
: Specifications
— . ioael Max. FoidLive) Max. Flow(L/min) i Port SizeRp(PT) cup combination(cn)
D AL1000-M5 4 95 M5 x 0.8 7
AL2000-02 15 800 1/4 25
Brackei AL3000-02 30 1700 1/4 50
N - AL3000-03 40 5000 3/8 50
Nl AL4000-03 40 5000 38 130
: AL4000-04 50 5000 1/2 130
: _‘ﬁ AL4000-06 50 6300 3/4 130
1 o 4 : AL5000-06 190 7000 3/4 130
i N N -I— AL5000-10 190 7000 1 130
m_1.5t- 7 @ Y — Cutlet f %
1\ | \>gh
9 % T L
by

Gauge diamater 2-Caliber

Model Port Size A B Cc D E F G H J K & M N
AR1000-M5 M5x0.8 25 58 12 25 33.5 25 28 27.5 4.5 6.5 40 18 18.5
AR2000-01/02| 1/8 - 1/4 40 92 17 40 53 33 33.5 43 5.5 15 55 1.8 33.5
AR3000-02/03| 1/4 - 3/8 53 1235 | 35 53 54.5 41 36 46 6.5 11.5 54 1.8 425
AR4000-03/04| 3/8 - 1/2 70 1455 | 375 70 60 49 53 52 85 10.5 70 1.8 525
AR4000-06 3/4 75 150 38.5 70 66 49 53 56 8.5 10.5 70 1.8 B25
AR5000-06/10| 3/4 - 1 90 165 48 90 70 49 53 62 8.5 10.5 70 1.8 52.5




(_] harhesh Air Source Treatment

Structure Charts

AL1000 AL 2000 AL 3000~4000 AL 5000

ik
e L - o
"ﬁﬁal: o

Inlet

Dimension(mm)

AL1000~2000 AL3000~4000

!
niet il Outlet

2-Caliber

2-Caliber

AL5000

r_C_.
T .

Model Port size A B C D E F G H J K g M N

AL1000-M5 Mb6x0.8 25 fifé 25 25 = = = = = = = = 25
AL2000-01/02| 1/8 - 1/4 40 118 39 40 12 30 27 2124 | 55 | 85 40 1.8 40
AL3000-02/03 | 1/4 - 3/8 53 141 37 53 14 41 40 24 65 | 8 53 1.8 55
AL4000-03/04 | 3/8 + 1/2 70 177 43 70 17 50 515 | 24 85 e 69 1.8 e
AL4000-06 3/4 s 180 43 70 - - - - - - - - 72

AL5000-06/10| 3/4 - 1 90 255 47 90 - - - - - = = - =




	百灵1_页 1
	百灵1_页 3
	百灵1_页 5
	百灵1_页 7
	百灵1_页 9
	百灵1_页 11
	百灵1_页 13
	百灵1_页 15
	百灵1_页 17
	百灵1_页 19
	百灵1_页 21
	百灵1_页 23
	百灵1_页 25
	百灵1_页 27
	百灵1_页 29
	百灵1_页 31
	百灵1_页 33
	百灵1_页 35
	百灵1_页 37
	百灵1_页 39
	百灵1_页 41
	百灵1_页 43
	百灵1_页 45
	百灵1_页 47
	百灵1_页 49
	百灵1_页 51
	百灵1_页 53
	百灵1_页 55
	百灵2_页 1
	百灵2_页 3
	百灵2_页 5
	百灵2_页 7
	百灵2_页 9
	百灵2_页 11
	百灵2_页 13
	百灵2_页 15
	百灵2_页 17
	百灵2_页 19
	百灵2_页 21
	百灵2_页 23
	百灵2_页 25
	百灵2_页 27
	百灵2_页 29
	百灵2_页 31
	百灵2_页 33
	百灵2_页 35
	百灵2_页 37
	百灵2_页 39
	百灵2_页 41
	百灵2_页 43
	百灵2_页 45
	百灵2_页 47
	百灵2_页 49
	百灵3_页 1
	百灵3_页 3
	百灵3_页 5
	百灵3_页 7
	百灵3_页 9
	百灵3_页 11
	百灵3_页 13
	百灵3_页 15
	百灵3_页 17
	百灵3_页 19
	百灵3_页 21
	百灵3_页 23
	百灵3_页 25
	百灵3_页 27
	百灵3_页 29
	百灵3_页 31
	百灵3_页 33
	百灵3_页 35
	百灵3_页 37
	百灵3_页 39
	百灵3_页 41



